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B.Com-(Computers) 7
ADVANCED ACCOUNTING -1 I

Maximum : 75 marks

(No additional sheet will be supplied)

SECTION A — (5 % 5 = 25 marks)
Answer any FIVE of the following questions.
Each question cerries 5 marks.
1. General ledger adjustment account.
& 9. Sectional balancing system.
Minimum rent account.
What are the terms used in royalty agreements? |

Deficiency account.

}
t
i
1
i\
1‘,
)

Difference between balance sheet and statement of affairs.

Scarifying ratio.

8.  Define partnership deed. What areé its contents?

9,

Difference between realization and revaluation account?

10. Garner Vs Murray cas¢:
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12.

From

ledger adn

Gupta traders keep their ledgers on the

the following particulars

SE(‘,'I'J()N B— (b X.]()
Answer any ONIE question

[2ach questiol

prepare de
' woneral ledge

1stment account n the (ieneral {

Purchase ledger (Cr.)
Purchase ledger (Dr.)
Sales Ledger (Cr.)
Sales Ledger (Dr.)
Credit Purchases
Cash purchases
Credit sales

Cash Sales

Purchase returns

Sales returns
Bills receivable received

Bills payables accepted
Bad debts written off
Provision for bad debts

Bills receivables dishonoured

Cash received from debtors
Cash paid creditors
Closing balances:

Purchase ledger (Dr.)

Sales Ledger (Cr.)
Or

following information for the year ended 31t march

You are required to prepare General Ledger Adjustme

traders.

Debtors balances on 15t April 2016. 1,37.250

Credit sales

Returns inward

Returns outwards

Cash received from customers
Discount received

Acceptance received

Bills receivable dishonoured
Bad debts written off

htors le :
¢ for the year ended 31.12.2017,

self balancing system. They provide you t

— 50 marks)
from One Unit.

, carries 10 marks.

.dger adjustment account and
i p“rr}

Rs.
2,00,000
22,700
2,400
4,21,000
20,00,000
2,00,000
18,00,000
7,00,000
1,00,000
80,000
3,00,000
2,00,000 ' "
10,000
10,000
40,000
12,00,000
16,00,000

Y.

17,000
9,000

F ey

L RTINS

e B

e

Fos

2017.
Rs.

68,100
1,200
1,800

76,800
2,010

25,500
3,600
7,500

nt Account in sales ledger of Gup® A

= _
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] Landala limited took a lease of some land from R
ALY

angaiah on 1.1,2003 the term being a

‘ ‘s, 4 per ton of coal extr R
" iy of Bs. 21 L extracted subject to a minimum rent of Rs. 40,000 l
. / Fy
3. Y, p.a. short

‘.\\\ A

, lodger accounts in the books of the company

:;h\\\
Year 2013 2014 - 2016
Sales 4,400 7,200 9,000 1

e are to be recouped over the first 4 years of
garkIts 10 first 4 years of the lease, From the following particul
' s particulars

2016 2017

1,600 13,800

Closing stock 600 800 900 1,200 1,400

Or

4 Aow ned certain patent rights he granted a license to be to use such rights on royalty basis.

The following are the relevant particulars.

Year 1 2 3 4

5

M.Rent 1,750 2,000 29250 2,600 2,500

Royalty 1,500 1,800 1,900 2,750 2,600

The deficiency of any year is to be set off against e
Show ledger accounts in the books of B.

15. Calculate the amount of preferent

pertaining to an insolvent debtors according to presid

Provincial Insolvency Act.

Sales tax
Income Tax
Municipal Tax
4 months rent due to landlord
Wages of 2 servants for 4 months
Wages of b labourers for 3 months
Salary of the Manager
Salary of 2 clerks for4 months

Or

xcess payable with in the next 2 years.

ial and unsecured creditors from the following figures

ency towns insolvency Act and

Rs.
25,000
15,000

5,000
20,000
800
3,000
5,000

2,400

s re—
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r 2016. His position was ag follOWg

Rs, '
ated to produce Rs. 25,000); 5’000

be
) 31st Decem
16. Roshan Lal finds himself insolvent on

Sundry debtors:

Goods — Rs. 5,000; Doubtful — Rs. 3
Bad - Rs. 15,000

1,000 shares in A. limited (estimated to

0,000 (estim

produce Rs. 15,000 25,000

5,000) 91,50

L i to produce Rs. 75,
Shares in B Lumt.ed (estimated to p i
Loss through betting i

Creditors on open account - mited to the
Creditors holding a second charge on the shares of Bli 30,000

Extent: of Rs. 25,000

Creditors holding a first charge on the shares of B limited 40,00
Bills Payables _ 4,000
Creditors for rent, rates, taxes, etc (of which Rs. 4,600 are preferential) 5,000
Furniture and fixtures (estimated to produce Rs. 3,000) 15,000
Cash in hand and at Bank 550
Stock in trade (estimated to realize Rs. 30,450) 35,950
Bills Receivable (estimated to realize Rs. 7,000) 9,000

Roshan Lal started with a capital of Rs. 70,000 on 1st January 2013 and they busin
resulted in a profit of Rs. 8,900 and Rs. 10,000 for the first two years respectively
ina loss of Rs. 5000 for the third year, after allowing Rs. 3,500 as interest on cap
each year. Withdrawals for the whole period amounted to Rs. 30,000.

Prepare a statement of affairs and the deficiency account.

and losses in the ratio 3:1 '
Liabilities Amount Assets

Amount
Archan capital 40,000 Land and buildings "~ 30,000
Divya capital 30,000 Furniture 2,000
General Reserve 20,000 Stock 8,000
Creditors 20,000 Debtors ' 60:000
Cash 4,000
Profit and loss A/C 6,000
1,10,000 —__1,10,000
(’:I;}:led);ﬁii:ed to admit soudamani into the ﬁﬁn, subjects to the following terms *

(@)  She will be entitled to one-fourth share of thq profits

()  She will bring in Rs. 21 000 of which R,

od¥
10,000 wily  share of 8%
to be retained in the businesgs. ‘ be treated as her sh

() Depreciation is to be provided on furniture @15%,

|

(d) Stock to be revalued at Rs. 6,500



(e

50% of the general reserve j :
5 Ive 1s to remain as a provision for bad '
ad and doubtful deb
ts.

ghow necessary ledger a
ger accounts and construct the balance sheet of th
et of the new firm

Or

The palance sheet of A and B as on 31t D
ecember 1994 is gi
given be

Josses 10 the ratio of 2:1. - low They share profits and

Balance sheet

Liabilities Amount Assets Amount
A’s Capital 4,00,000 Freehold property  2,00,000
B’s Capital 3,00,000 Furniture 60,000
General Reserve  2,40,000 Stock 1,20,000
Creditors 1,60,000 Debtors 6,00,000

Cash 1,20,000
11,00,000 11,00,000

e

They agreed to admit C into the firm subject to the following terms and conditions:

@ C will bring in Rs.1,20,000 as capital and Rs. 90,000 as premium for goodwill for 1/4%®

share
(b) Depreciation on furniture at 5%

(c) Stock is to be revalued at 1,05,000

Prepare ledger account losses and balance sheet of the new firm.

19. A, Band C sharing profits and looses equality
retire on 31 December 2016 on W

Balance sheet

Liabilities Amount Assets Amount
A's Capital 1,00,000 Cash 30,000
B's Capital 80,000 Debtors 60,000
Cs Capital 60,000 Stock 50,000
Creditors 80,000 Plant and machinery 1,00,000
Land and buildings 80,000
/ ——
320,000 3,20,000
? ?

The value of the goodwill was agreed as R

value, the value being
Rs. 88,000 and it was als

agreed at

o agreed to provide 5% in respect of Debtors.

Prepafe memorandum revaluation account, Ca
Or

Rs. 1,10,000. Plant and machinery was revalue

had been trading for many years. C decided to
hich date balance sheet of the firm was as follows:

pital accounts and Balance sheet.

s. 81,000. The land and building had increased 1n
d at



2() ,.s B qnd (: - j- I l‘atio. On 31. % 0 D 1 ‘- b
tn s 11 Vv are S llarinb" pl‘OﬁtS 5. - l 2.2 l ai ;
' Sy i are pal' ers. I (2' I s L bE

given below.
b Balance sheet

Liabilities  Amount Assets :\;n;)(l)l(r)lt
A's Capital 20,000 Cash at bank q(; "
B's Capital 15,000 Debtors .1.0,000
C's Capital 10,000 Closing Stock | ! X
Bills payables 25,000 Plant and machinery 20,000 VI
Goodwill 14,000 fs
70,000 _70,000 :

On 31.12.2015 Mr.A is died. Partnership conditions are given below:

- \ S0/
(a) Interest charged on capital @5%, and Interest on Drawings @5%.

E
(b)  Good will should take double profit in last 4 years average. 2008- Rs. 15,000: 30¢¢ |
Rs. 40,000; 2010- Rs 15,000 (loss); 2011 - Rs, 20,000

()  The last three years should pay his share of the profit until the date of A death;

average profits.
(d) Until A death. He spended Rs. 3,000 personally.
() Immediately after death of A. The remaining

partners should pay Rs.1135 &
the remaining balance is to be paid Rs. 10,000 every vear plus 5% imtes
Prepare necessary ledger account.
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THREE YEAR B.Com. (CBCS) DEGREE EXAMINATION, FEBRUARY 2022
FIFTH SEMESTER i
'

B.Com (Computer Applications) L

COST ACCOUNTING v t .
Time : Three hours Maximum : 75 marks i

(No additional sheet will be supplied)

PART A — (5 x 5 =25 marks)
Answer any FIVE questions.
Explain cost Accounting and it's objectives.

2 Functions and advantages of cost Accounting.

3.  What are the various elements of cost?

4 About 30 items are required every day for a machine. A fixed cost of Rs.50 per order is
incurred for placing an order. The inventory carring cost per item amounts to Rs.0.02 per
dav. The lead period is 32 days. Compute (a) Economic order quantity (b) Re — order Level.

5.  Methods of wage payment.

6. Advantages and Disadvantages of Halsey premium plan.

7. What are the different methods and techniques of costing.

8. Contract costung vs Job costing.

9. Uses of Break — even analysis.

10. Explain margin of safety. 3
‘ PART B — (5 x 10 = 50 marks)

Answer ALL questions.
11. Prepare a cost sheet from the following:
Rs
Materials on 1.1-.‘2009_ 10,000

Finished goods on 1.1.2009 25,500

Raw materials purchased -~ 2,90,000

Productive wages 1,95,000
Sales 6,06,000 |
ale '
{
Materials on 31.12.2009 12.500 |
43,000

Works overheads

Office and general charges 36,000

24,000
Finished goods on 31.12.2009 24

SS————




You are required Lo show:

(a) Value of the Raw materials consumed.

(b)  Prime cost

(¢) Factory cost

(d) Cost of production

(¢) Percentage of works overhead on w:lﬂ‘r%” -

(fy  Percentage of general overheads on factory €O

i ing to article — A.
12.  Prepare cost sheet from the following informzxtif)‘n relating to ‘;{Y:"'

Stock on 1st January 2016 :
Raw Materials 4,000
Finished Goods-400 units 3,000
Purchase of Raw materials 24,000
Direct wages 20,000
Works overheads 8,400
Work-in-progress
on 1st January, 2016 960
on 31st December, 2016 3,200
Office and administrative overheads 1,600
Stock on 31st December, 2016 :
Raw materials 4,400
Finished goods — 800 units
Sale of finished products 60,000

Ze:]fi r(;g e¥penses were calculated at 20 paise per unit. Total production during 2016 was

3,400 units,
13.

Following transactions occur in the purchase

and issue of metrical,

Jan 19 purchased 100 at Rs. 5.00 each

Feb 4  Purchased 25 at Rs. 5.25 each
Feb 12 Purchased 50 at Rs. 5.50 each
Feb 14  Issued 80
Feb 16 Purchased 50 at Rs. 5.50 each
Feb 20  Issued 80
Feb 27

Complete the stock Account showing the
year. State clearly your method of pricing
method.

Or

2

Purchased 50 at Rs., 5.7

bal

b each

ance on March

; 31, the end of the accoun11"§
the issues, you

are required to prepare

.

>




\ [Ad has purchased and dssued the material in the following vrdor,

Jan 1 purchinged SO0 vnits @ We, B« por unit, :
A purchnsed GO0 wnibs @ He, Al pot unit, :
6 Taste HOO units «
10 purchased 700 units @ He AL por anit j
16 Tusue HOO 1nits i
20 purchased 300 units @ o bl por unit
23 lasue 100 unite ‘
Ascertain the quantity of closing stock as on 414 January and state whiat will be its valos Go

cach cash) if issues are made under the following methods:
(a) Simple Average price
(b)y  Weighted Average price

15. A worker takes 9 hours per day in complete s work on time basis, He completos thin vk in
6 hours, if he is remunerated on piecs - rate basis, Piecs ~ rate is 075 gs. por bovir. 5
product requires materinls costing Re.d overheads are taken st 150% on direct wagss
calculate the factory cost under

(n) Piece Rate System
(b) Halsey plan and
(c) Rowan plan
Or

16.  Calculate the earnings of workers A, b and C under straight pieco rate system and Merrick's
multiple piece rate system from the following particulars:

Normal rate per hour = Re 1.80; standard time per unit-1 minute,
Output per day is as follows ~ worker A; 384 units,

Worker B:450 units; worker C;6H52 units.

Working hours per day are 8.

17.  Printwell Ltd took up two jobs during the 1" week of April, 2017, following details are
available:

Job 101 Job 102

Materials supplied 2,000 1,400

Wages paid 1,000 600

Material transfer from 101 to 102 100 100
| Matcrial returned to stores . 50

Find the cost of each job.
Or

18 From the following particulars relating to a contract, prepare. (n) Contract account
' (h) Contractee’s account and also show relevant entrics in the balance sheet.
g i

i ,‘9
i 4,‘} i b ]

Labour engaged on site

15,000
plant installed at cost RS 55014
]

e




19.

Direct expenditure

4,126

3,167
IBsatblishement charges 548
Materials returned to stores | 95,000
Work certified 1500
Cost of work not certified ]\ e
Materials on hand on 318t December 2:4”0
Wages accrued due on 31st December : (
Direct expenditure acerued due on 318t December 240
Value of plant on 31st December 11,000

2,50,000

Contract price agreed
‘Cast received from contractee 1,80,000

From the following data you are required to calculate

(a) P/V Ratio

(b)  Break even sales with the help of P/V Ratio

(¢)  Sales required to earn a profit on Rs. 4,50,000

Fixed expenses
variable cost per unit

Direct materia]

Direct labour
Direct overheads

Selling price per unit

Rs.
90,000

5

2

100% of direct labour

12
Or

From the following details calculate,

(a)  P/V Ratio

(b) BEP point

(c) Margin of safety

(d) Effect of 10% increase in SP on BEpP

(e) Effect of 10% decrease ip SP on BEP

Rs,

Sales 60,000
Variable cost 30,000
Fixed cost 15,000

5501
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THREE YEAR
‘ B.Com. (CBCS) DEGREE EXAMINATION FEBRUARY
FIFTH SEMESTER
GOODS AND SERVICE TAX FUNDAMENTALS - |

2022.

~.me : Three hours
Maximum : 75 marks

(No additional sheet will be supplied)

PART A — (5 x 5 = 25 marks)
- Answer any FIVE of the following questions.
1.  GST Council.
2. Need for Tax Reforms.
3. Dual GST.

4. UTGST Act.

5. Subsumed taxes.
6. Taxation of Services.
7. IGST.

8. Inter-State Goods And Services Tax.

3 & Input Tax Credit.

edit.

10. Matching of Input Tax Cr
PART B — (6 x 10 =50 marks)

Answer FIVE of the following questions.

11. Write a note on justification for introduction of GST in India.

Or

12. Listout exempted goods from GST.

Explain the three prime models of GST in India.
Or

13.

14. Define Central GST and State GST and write the advantages of Dual GST.

/ 8 - — e e S M-"""-W"""”"—
1 SRR
o AR e ——— e e——— oA e
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15.

16.

17.

18.

19.

20.

. Jhi come
What are the taxes and duties W hich
Or

: ‘ST_
LiSt out exempmd ser\'l(‘.(‘R from (r
. gT model.
Explain the major advantages of IGST
Or

m the following information and GST payable by,

1saction value of goods fro

Compute the trai X 1
dealer registered in Andhra Pradesh. Re.s0;

. ¥ ._') 'v'"’,’
Selling price [including IGST of Rs.5,000] ;

; : ice

Following transactions are not included in the above prl ;
(a) Freight charges paid by supplier charged separately s. 105 §,
(b) Normal secondary packing cost Rs. 150
(c) Cost of durable on returnable packing Rs. 150
(d) Insurance on freight paid by the supplier charged separately Rs. 50
() Trade discount [normal practice] Rs. 1,000
() Rate of GST 19

Explain the provisions relating to Value of Taxable Supply as per Central Goods 2ot |

Services Tax [CGST] Act, 2017. \
Or

M/s 'Rahul Limited of Bangalore supplies steels worth Rs.5,00,000 to M/s Koushik Limited P
Pudicherry. Tax rate is assumed at 12%. Compute the tax liability.
f .
i
§
£
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Time : Three hours

THREE YE? |
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FEBRUARY 2020, ) DEGREE EXAMINATION,
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COMMERCIAL GEOGRAPHY

(No additional sheet will be supplied)

Maximum

-
75

marks

19

L a4

'Ol

10,

SECTION A — (5 x 5 = 25 marks)

Answer any FIVE questions.

Each question carries 5 marks.

DD DB [SHODH FATEHHDO ErAHn.

5O % 5 Doy,
What is Global Warming?
Ried TR edrdan?

What is Environmental Pollution?
ST SPe0dgo OIMTP?

What is soil and explain the soil importance in agriculture?
oo (3S5en) EITR0? SgoRea0S” Bgsen TR D207
What is agricultural development?

échaodb ezp::q)gm 2580%06.

What is Forest Rights Act, 20067
2006 £5¢3D T BerR) 2580506

What is Temperate Deciduous forest?

s —esETrO) BERD edTRD?
Q

What are the Renewable Minerals?
SHITNHBO 58305, %8 458 K809 9580308,

What is Mineral?

What 18 Perennial Rivers?
Spheediy NG e mRd?

- Vine of Rivers?
What is the [nterlinking © ‘
:‘);‘; ]bméogv:,o (858) aotB080oR) 80D KHjore orabod
(<) ™

B

7 )

S ——



11

13.

14.

——
&

16,

18.

19.

SICTION I3 = (b = 107 5O maorks)
) Y

Answor ALL questions,
i rie ks,
lsnch question earries 10 mu
‘ ‘ v,
e LGS SSINER
ey I ()
) SEELS ISR

[ [t 10 SHIEoe0.

Write o note on Internal structure of 1arth,
TASATVYY SR poyead) HBod HHbovbod.
’ | Or

Al " l)
i Y pr swher ISarth?
What measures do you take to protect the me

EITD SrOErDE DY deroed Hisen HoKroer?

Explain the classification of soils in India,
ErEBRT0G" DD B5re Boo KBod 958090,

Or
Explain the problems of Agriculture in India.
EBDF Bgdan Soko DEE7060F) BHB5OP 2.8 Tg00 0aHod,

Define Forest, Write a note on different types of forests of India.
©EDID DEGDOD GrEBAE0E'D D05 Ssve YO K80 DHB0BOA.

Or
What are the salient features of Forest Conservation Act, 1980?
1980 e&Ho Sotke D60 B9 oXeTob) K800 DHBoVod,

Define Minerals, Ixplain the differences between metalic and non-metalic minerals, ferrov
and non-ferrous minerals,

POBOD DEFD0D, % HBakny S"roS  Dderen, D B8 TS0 dare Kl
D5BoBod.

Or
Write a note on the uses of minerals in India,

FEELE0G D DD PRErer GBI K800 D9BoHod,

Explain the differences between llinmlnynn and pOninsu[np river system

THTOCD esp88 5)8afay G50y Hoe D653 Brzverdy I58oyoa
Or
Write a note on various sources of water.

D35HGe 1576y H5Bodod,
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PART A — (5 x 5 = 25 marks)

Answer any FIVE of the following questions.
1.  GST Council.
2. Need for Tax Reforms.

3. Dual GST.

4. UT GST Act.

5. Subsumed taxes.
6. Taxation of Services.
7. 1GST.

8. Inter-State Goods and Services Tax.

9. Input Tax Credit.

ut Tax Credit.
PART B— (
r FIVE of the follow

Matching of Inp
5x 10= 50 marks)

10.
ing questions.

Answe
te on justiﬁcation for introduction of GST 10 India.

11, Wnted no
Or
GST.
12. Listout exempted goods from
18T in India.
.o models of G5

he three prime ‘

13. Explan th "

the advantages of Dual GST.

3T and Gtate GsT and write

14. Define Central Gf




15,

16.

18.

19.

20,

, r (LT
gide the purview of GET
What are the taxes and duties which come outside the p
Or
i Fals il
List out exempted sorvicos from GST.

Explain the major advantages of 1GST maodel.,

Or

. s following information and Ggp Y
Compute the transaction value of goods from the following 5Tp A¥ablet, 8

dealer registered in Andhra Pradesh,

Selling price [including IGST of Rs.5,000]

Following transactions are not included in the above price

(a)  Freight charges paid by supplier charged separately

(b) Normal secondary packing cost

(¢)  Costof durable on returnable packing

(d) Insurance on freight paid by the supplier charged separately

(e) Trade discount [normal practice]

f)  Rate of GST

Explain the provisions relating to Value of Taxable Supply as per Central Goods and

Services Tax [CGST] Act, 2017.

Or

.S,

R-% f/)’!f/} :

Rs. 1,000
Bs. 159
Bs, 150

Rs.500 §
Bs. 1,00

18%

M/s Rahul Limited of Bangalore supplies steels worth Rs.5,00,000 to M/s Koushik Limited

Pudicherry. Tax rate is assumed at 12%. Compute the tax liability.




